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If Difference of Simple interest and Compound interest is given on Principal P

❖For 2 Years,      𝐃

𝐏
=

𝟏

𝐲𝟐

❖For 3 Years,      𝐃

𝐏
=
𝟑𝒚+𝟏

𝐲𝟑

❖For 4 Years,      𝐃

𝐏
=
𝟔𝒚𝟐+𝟒𝒚+𝟏

𝐲𝟒

❖For 5 Years,      𝐃

𝐏
=
𝟏𝟎𝒚𝟑+𝟏𝟎𝒚𝟐+𝟓𝒚+𝟏

𝐲𝟓

Where y= 
100

𝑅
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If the difference between CI and SI on a 

certain sum of money of Rs.40000 for 2 years 

is Rs.484. Find rate of interest?

40000रू के धन का 2 वर्ष का साधारण ब्याज और
चक्रवदृ्धध ब्याज का अतंर 484रू है तो दर ज्ञात करें ? 

[SSC CHSL 2018]

a. 10%

b. 11%

c. 12 %

d. 13 %
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If the difference between C.I. and S.I. is Rs. 

555 in three years and the principal is  

Rs.25920. Find the rate of interest, if 

compounded annually.

यदद रु. 25920 के मलूधन पर 3 वर्ों के साधारण और
चक्रवदृ्धध ब्याज का अतंर रु. 555 है तो ब्याज की दर
बताइए ?

[SSC CGL 2018]

A.16.66%

B. 8.33%

C. 12.5%

D.14.28%
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P.Chandra’s Concept 
of Compound Interest

If CI for two consecutive complete n years (𝑪𝑰𝒏) and n+1 years(𝑪𝑰𝒏+𝟏) are

given , then use P.Chandra's formula(© copyright)

CIn+1−CIn

CIn
= 

zn

σn1=n
n1=1 yn1zn−n1

Where z=y+1  ,  y=
100

Rate(R)

OR    Rate  R%= 
𝟏𝟎𝟎

𝒚
=  

𝟏𝟎𝟎

𝒛−𝟏
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➢ If CI for 1 year and 2 years are given

CI2−CI1

CI1
= 

z

y

➢ If CI for 2 years and 3 years are given

CI3−CI2

CI2
= 

z2

y2+𝑦𝑧

➢ If CI for 3 years and 4 years are given

CI4−CI3

CI3
= 

z3

y3+y2𝑧+𝑦z2

➢ If CI for 4 years and 5 years are given

CI5−CI4

CI4
= 

z4

y4+y3𝑧+y2z2+𝑦z3
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If C.I. of a certain sum at the end of 2 

years and 3 years are Rs. 234 and Rs.381 

respectively. Find the rate of interest?

किसीनिश्चितधिराशिपरदोसालऔरतीिसालमें
िक्रवृद्धधब्याजक्रमि:234और381ह|ै ब्याजिी
दरज्ञातिरें?
[SSC CPO 2019]

a. 12.5%

b. 16.67%

c. 18.33%

d. 14.28%
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If compound interests for 2 years and 3 years 

are Rs. 1575 and Rs. 2535 respectively then 

find rate of interest? 

यदद ककसी ननश्चचत धनराशि पर 2 वर्ों और 3 वर्ों के
शलए चक्रवदृ्धध ब्याज क्रमिः रु 1575 और रु 2535 तो
ब्याज दर ज्ञात करें?
[SSC CHSL 2018]

a. 16.66%

b. 20%

c. 12.5%

d. 14.28%
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On a certain sum of money, compound 

interest earned at the end of two years is 

Rs.1320. Compound interest at the end of 

three years is Rs.2184. Find the principal?

एिनिश्चितधिराशिपर, दोसालिेअंतमेंअश्जित
िक्रवृद्धधब्याज1320रुहै।तीिवर्षोंिेअतंमेंिक्रवृधध
ब्याज2184 रुहै।मूलधिज्ञातिरें?

[SSC CGL 2017]
a. Rs.3000

b. Rs.3200

c. Rs.3600

d. Rs.2400
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A sum of Rs. 6600 was taken as a loan. This is 

to be repaid in two annual installments. The 

rate of interest is 20%, which compound 

annually. Find the value of each installment.

6600 रुपयेिीराशिऋणिेरूपमेंिीगईथी।इसदेो
वार्र्षििकिचतोंमेंिुिािाहोगा।िक्रवृद्धधब्याजिीदर
20% वार्र्षििहै।प्रत्येिकिस्तिामूल्यज्ञातिीश्जए?

[SSC CGL 2020] (a) Rs. 4320          

(b) Rs 2220

(c) Rs 4400           

(d) Rs 4420
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A sum of Rs. 8,400 was taken as a loan. This is 

to be paid in two equal instalments. If the rate 

of interest is 10% per annum, compounded 

annually, then the value of each instalment is

िजििेरूपमें8,400 रुपयेशलएगए।यहदोसमािकिचतों
मेंभुगतािकियाजािाहै।यददब्याजिीदरसालािा10% 

ह,ै जोकिसालािाह,ै तोप्रत्येिकिचतिामूल्यह:ै

[SSC CHSL 2020] (a) Rs. 4200          

(b) Rs 4480

(c) Rs 4840           

(d) Rs 4420
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A certain loan was returned in two equal half 

yearly instalments each of Rs 6,760. If the rate of 

interest was 8% p.a., compounded yearly, how 

much was the interest paid on the loan?

ऋणिीिोईनिशिितराशिरू. 6, 760 िीदोएिसमाि
अधिïवार्र्षििकिस्तोंमेंलौटाईजातीहै।यददवार्र्षििरूपसे
िक्रवृद्धधब्याजदर8% प्रनतवर्षिथी, तोऋणपरब्याजिे
रूपमेंकितिीराशििाभुगतािकियागया?

[SSC CGL MAINS 2018]

(a) Rs 810           

(b) Rs 790

(c) Rs 750           

(d) Rs 770
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What is the difference (in Rs) between the 

compound interests on Rs 12,500 for 1 

year at 8% per annum compounded yearly 

and half-yearly?

12,500 रूपर1 वर्षििेशलए8% िीदरसवेार्र्षिि
औरछमाहीिरिपेरप्रनतवर्षििक्रवृद्धधब्याजिे
बीिमेंक्याअंतर(रूमें) होगा?
[SSC CGL MAINS 2017]

(a) 16             

(b) 25          

(c)20            

(d) 40
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What is the difference (in Rs) in 

Compound interest earned in 1 year on a 

sum of 10,000 at 40% per annum 

compounded quarterly and annually?

यदद10,000 रू. पर40% वार्र्षििब्याजिीदरस1े 
वर्षितिनतमाहीऔरवार्र्षिििक्रवृद्धधब्याजशमलता
हतैोउिदोिोंमेंकितिाअंतर(रूमें) होगा?
[SSC CGL MAINS 2017]

(a) 461 

(b) 346  

(c) 463

(d) 641 
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A man borrows Rs.6000 at 10% compound 

rate of interest. At the end of each he pays 

back Rs.2000. How much amount should 

he pay at the end of the third year to clear 

all his dues?

एिव्यश्क्तिवेार्र्षिििक्रवृद्धधब्याजिी10% दर
पर6000 रुपयेउधारशलए।प्रत्येिवर्षििेअतंमे
व्यश्क्त2000 रुपयेअदािरताहज्ञातिीश्जयेतीसरे
वर्षििेअंतमेंवहअपिउेधारिोखत्मिरििेेशलए
कितिेरुपयेिाभुगताििरेगा? 

[SSC CGL MAINS 2018]
a) Rs.3360

b)Rs.3366 

c) Rs.1366

d) Rs.4366
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A person deposited a certain money in bank. Bank offers him 10% per annum compounded 

annually. If he deposits Rs.3500 at the end of 1st year and withdraws Rs.5000 at the end of 2nd 

year. Finally, at the end of 3rd year the amount, he gets Rs.18700. Then find his initial 

investment.

एिव्यश्क्तिकेिसीनिश्चितधिराशििोबैंिमेंनिवेिकिया।बैंिउस1े0% वार्र्षिििक्रदूधधब्याजप्रदाििरताहै।
यददवह1 वर्षििेअंतमें3500 रुनिवेििरताहऔैरदूसरेवर्षििेअंतमें5000 रुनििाललेताह,ै तीसरेवर्षििेअंतमें, 
उसरु18700 शमलताहै।तोउसिाप्रारंशभिनिवेिज्ञातिरें?
[SSC CGL MAINS 2017]

a) Rs. 13700 

b) Rs.16000 

c) Rs.17200

d) Rs.15000


